REAR HUGGER ADAPTABLE TO KAWASAKI ZXI0R 11’-

o Parvicy H

INSTRUCTIONS TO ASSEMBLE

1- Remove the original rear hugger.

2-  Place the silenblocks in the drills of the hugger supplied. Mount the rear hugger using
the M6x15 on the central position and the M6x20 on the side.

3-  Check them periodically, and tighten the fixations.

4- In case your motorcycle has other accessories, observe that it does not interfere with the
hugger.

Material supplied to assemble the mudouard.:

POS. DESCRIPTION QTY.
Silenblocks 3
Black M6x20 DIN1001 fasteners 2
Black M6x15 DIN1001 fasteners 1

Learn more about motorcycle frame and body we have.


https://www.motorcycleid.com/puig/
https://www.motorcycleid.com/frame-body.html



